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Note : Attempt any five questions. Each question carries equal marks. Question No. 1 is

compulsory 14X5=70
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Attempt any five questions. Each question carries equal marks. 14*5 =170

Q.1 (A) Describe the three handover detection strategies: MCHO, NCHO and MAHOQ. What
are the advantages and disadvantages of the three handoff detection strategies? For example,
in terms of load balancing which strategy is better? (14 Marks)

Q.2 (A) Describe the medium access control problem of receiving distinctly, the signals from
exposed and hidden terminals and from near and far mobile terminals. Also describe the
medium access control problem of drowning of far terminal signals by near mobile terminals.

(7 Marks)
(B) Write short note on FDMA and TDMA. (7 Marks)

Lo Ot ‘Dcs’c‘ribe how a piconet forms when Bluetooth devices come in the vicinity of each
other? Describe‘L;f"tManager Protocol (LMP) and Logical Link and Control Adaptation
Protocol (L2CAP). e : (7 Marks)

(B) Write the Quality of Service in 3G. Compare W-CDMA and D) 000 in terms of the
pilot signal structure and base station synchronization.

Q.4 (A) Describe Mobile IP protocol. Explain, with a diagram, how a correspondent mobile
node on a visit sends and receives IP packets to and from another MN also on a visit at

another foreign network. (10 Marks)
(B) Describe DHCP. (4 Marks)
Q. 5 (A) Explain how MANETs are deployed in various applications? Describe the
properties of MANETs. (7 Marks)
(B) Describe DSR, DSDV and AODV protocols. (7 Marks)

Q. 6 (A) What is WLL? Describe the WLL architecture with the help of figure. (7 Marks)

(B) Write short note on: (7 Marks)
(i) Location management and registration
(i) Tunnelling and Encapsulation

Q.7 (A) Describe the various subsystems and units in the GSM system architecture. How do
these subsystems and units differ? : (7 Marks)

(B) How are transmitted signals reaching a receiver in a synchronized state when there are
the multiple path, and thus time delays in a CDMA system? (7 Marks)
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